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I. Vocabulary：
例1 
Being a man has always been dangerous. There are about 105 males born for every 100 females, but this ratio drops to near balance at the age of maturity, and among 70-year-olds there are twice as many women as men. But the great universal of male mortality is being changed. Now, boy babies survive almost as well as girls do. This means that, for the first time, there will be an excess of boys in those crucial years when they are searching for a mate. More important, another chance for natural selection has been removed. Fifty years ago, the chance of a baby (particularly a boy baby) surviving depended on its weight. A kilogram too light or too heavy meant almost certain death. Today it makes almost no difference. Since much of the variation is due to genes, one more agent of evolution has gone.
What used to be the danger in being a man according to the first paragraph?
A. A lack of mates.




B. A fierce competition.
C. A lower survival rate.



D. A defective gene.
例2 

Of all the changes that have taken place in English-language newspapers during the past quarter-century, perhaps the most far-reaching has been the decline in the scope and seriousness of their arts coverage.

It is difficult to the point of impossibility for the average reader under the age of forty to imagine a time when high-quality arts criticism could be found in most big-city newspapers. Yet a considerable number of the most significant collections of criticism published in the 20th century consisted in large part of newspaper reviews. To read such books today is to surprise at the fact that their learned contents were once considered suitable for publication in general-circulation dailies.
It is indicated in Paragraphs 1 and 2 that _______.
A. arts criticism has disappeared from big-city newspapers.
B. English-language newspapers used to carry more arts reviews.
C. high-quality newspapers retain a large body of readers.
D. young readers doubt the suitability of criticism on dailies.
例3 
     Everybody loves a fat pay rise. Yet pleasure at your own can vanish if you learn that a colleague has been given a bigger one. Indeed, if he has a reputation for slacking, you might even be outraged. Such behaviour is regarded as “all too human”, with the underlying assumption that other animals would not be capable of this finely developed sense of grievance. But a study by Sarah Brosnan and Frans de Waal of Emory University in Atlanta, Georgia, which has just been published in Nature, suggests that it all too monkey, as well.

In the opening paragraph, the author introduces his topic by _______.
A. posing a contrast.
B. justifying an assumption.

C. making a comparison.
D. explaining a phenomenon.

例4 

Could the bad old days of economic decline be about to return? Since OPEC agreed to supply-cuts in March, the price of crude oil has jumped to almost $26 a barrel, up from less than $10 last December. This near-tripling of oil prices calls up scary memories of the 1973 oil shock, when prices quadrupled, and 1979-80, when they also almost tripled. Both previous shocks resulted in double-digit inflation and global economic decline. So where are the headlines warning of gloom and doom this time?

The oil price was given another push up this week when Iraq suspended oil exports. Strengthening economic growth, at the same time as winter grips the northern hemisphere, could push the price higher still in the short term.

The main reason for the latest rise of oil price is ______.

A. global inflation.


B. reduction in supply.

C. fast growth in economy.
D. Iraq’s suspension of exports.
例5   

In1950, the U.S. spent $12.7 billion on health care. In 2002, the cost will be $1,540 billion. Anyone can see this trend is unsustainable. Yet few seem willing to try to reverse it. Some scholars conclude that a government with finite resources should simply stop paying for medical care that sustains life beyond a certain age – say 83 or so. Former Colorado governor Richard Lamm has been quoted as saying that the old and infirm “have a duty to die and get out of the way”, so that younger, healthier people can realize their potential. 

I would not go that far. Energetic people now routinely work through their 60s and beyond, and remain dazzlingly productive. At 78, Viacom chairman Sumner Redstone jokingly claims to be 53.Supreme Court Justice Sandra Day O'Connor is in her 70s, and former surgeon general C. Everett Koop chairs an Internet start-up in his 80s.These leaders are living proof that prevention works and that we can manage the health problems that come naturally with age. As a mere 68-year-old, I wish to age as productively as they have.
The author’s attitude toward Richard Lamm’s remark is one of ______.
A. strong disapproval.


B. reserved consent.

C. slight contempt.



D. enthusiastic support.

例6
What accounts for the great outburst of major inventions in early America-breakthroughs such as the telegraph, the steamboat and the weaving machine?

Among the many shaping factors, I would single out the country’s excellent elementary schools; a labor force that welcomed the new technology; the practice of giving premiums to inventors; and above all the American genius for nonverbal, “spatial” thinking about things technological.
…
The best title for this passage might be _______.
A. Inventive Mind  


B. Effective Schooling

C. Ways of Thinking      

D. Outpouring of Inventions

例7
Research on animal intelligence also makes us wonder what experiments animals would __13__ on humans if they had the chance. Every cat with an owner, __14__, is running a small-scale study in operant conditioning. We believe that __15__ animals ran the labs, they would test us to __16__ the limits of our patience, our faithfulness, our memory for locations. They would try to decide what intelligence in humans is really __17__, not merely how much of it there is. __18__, they would hope to study a(n) __19__ question: Are humans actually aware of the world they live in?  

18. A. Above all      
B. After all 

C. However    

D. Otherwise
例8
California has a new program called the Digital Textbook Initiative. “Starting this fall with high school math and science, we will be the first state in the nation to provide schools with a state-approved list of digital textbooks.” That was Governor Arnold Schwarzenegger in June, talking about his effort to get schools to use materials available free online. He listed reasons why he thinks digital textbooks make sense.

California approves traditional textbooks in six-year cycles. Digital ones can offer the latest information. They lighten the load of school bags. They save paper and trees, and make learning more fun and interactive. And above all, he said, they help schools with their finances.

The main reason for promoting digital textbooks is to ______.

A. help save money





B. benefit the environment

C. provide interesting materials


D. reduce students’ heavy burden

II. Structure：
1. We believe that __15__ animals ran the labs, they would test us to __16__ the limits of our patience, our faithfulness, our memory for locations.  

15. A. if      

B. unless     


C. as      



D. lest

2. One of the federal government’s studies ______ that the number of the homeless will reach nearly 19 million by the end of this decade.
A. predicts 


B. displays  


C. proves 


D. discovers
3. The word used by the speaker may stir up unfavorable reactions in the listener ______ interfere with his comprehension; …
A. who    


B. as    


C. which     

D. what

4. ______ the danger from enemy action, people had to cope with a severe shortage of food, clothing, fuel, and almost everything.

  A. As far as   

B. As long as   

C. As well as   

D. As soon as

5. It is ______ that you can’t get everything you want at one store because there are chronic shortages of goods.

  A. likely


B. possibly 


C. probably 


D. certainly

6. 

Kitcher is a philosopher and this may account, in part, for the clarity and effectiveness of his arguments. The non-specialist will be able to obtain at least a notion of the sorts of data and argument that support evolutionary theory. The final chapter on the creationists will be extremely clear to all. On the dust jacket of this fine book, Stephen Jay Gould says, “This book stands for reason itself.” And so it does—and all would be well were reason the only judge in the creationism / evolution debate.  

From the paragraph we can infer that _______.
A. reasoning has played a decisive role in the debate.

B. creationists do not base their argument on reasoning.

C. evolutionary theory is too difficult for non-specialists.

D. creationism is supported by scientific findings.

7.

What this amounts to, of course, is that the scientist has become the victim of his own writings. He has put forward unquestioned claims so consistently that he not only believes them himself, but has convinced industrial and business management that they are true. If experiments were planned and carried out according to plan as faithfully as the reports in the science journals indicated, then it would be perfectly logical for management to expect research to produce results measurable in dollars and cents. It is entirely reasonable for auditors to believe that scientists who know exactly where they are going and how they will get there should not be distracted by the necessity of keeping one eye on the cash register while the other eye is on the microscope. Nor, if regularity and conformity to a standard pattern are as desirable to the scientist as the writing of his papers would appear to reflect is management to be blamed for discriminating against the “odd balls” among researchers in favor of more conventional thinkers who “work well with the team.”
The author implies that the results of scientific research _______.
A. may not be as profitable as they are expected.

B. can be measured in dollars and cents.

C. rely on conformity to a standard pattern.

D. are mostly underestimated by management.

8. (Translation)
For example, these tests do not compensate for gross social inequality, and thus do not tell how able an underprivileged youngster might have been had he grown up under more favorable circumstances.

9. (Translation)
Behaviorists suggest that a child who is raised in an environment where there are many stimuli which develop his or her capacity for appropriate responses will experience greater intellectual development.
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